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Show your work! No calculators! Please draw a around your answers!

Please do not write on your desk!

1. (6 x 1 =6 pts.) Determine whether the given statement is true or false.
Indicate your answers by typing TRUE or FALSE in the blank space provided before
the statement. No explanations required.

Suppose f(x) and g(x) are continuous functions on the interval [a, b] in parts (a) to (c).

a) F’L\\‘SE /ab \/de = /abf(x)dx

()M/ z) + gz d:n—[/f ) da

/abg(:v) dx]

(c) TLUE  The graph of a function can intersect its asymptote.

(d) LM di /lw cos(t?) dt = 32° cos(z°) — cos(1)

T

(e) TLue /7T &\/\_/@ dz = 2sin(+/x) T 2sin(y/7)

X =0

f) & % /w tan(t) dt = sec?(z)



2. (4 x 2 =8 pts.) Answer the following questions using the graph of f(z) below.
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(d) Suppose F(x) is an anti-derivative of f(z) such that, F'(0) = 1. Then,
F(15) =

X“;‘Y(ﬂéx S FUS) -f 1) = 6-42+ 2 = >

RN Rm:MF‘O\:“A‘E\

3. (6 pts.) Evaluate the area of the finite region enclosed by the curves y = 2% and
y = 6z — 2. "
N bx-x"=x = x(2x-6)=0
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